50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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State the Ob_]eCtIVQSV:‘NQI Metrology. ‘ (04 Marks)
Explain with a neat sketch International Prototype meter. < ! (06 Marks)
Using M112 set of slip-gauges, build the following dimensions " :

i) 483275 i) 68 m : (06 Marks)

\ OR 4

Four length bars A, B, C & “) of. approx1matel\ ‘250mm each are to be calibrated with
standard calibrated metre bar whleh is actually 0. 0008mm less than a metre. It is also found
that bar B is 0.0002mm longer than bar ‘A’ bar ¢ is 0.0004mm longer than ‘A’ and bar ‘D’
is 0.0001mm shorter than bar ‘A’ lengt‘l of all four bars put together is 0.0003mm

longer than the calibrated standard metre. Determme the actual dimension of each bar.
(10 Marks)

Explain with a neat sketch the method-of me;a-sugmg taper angles using sine centre.
e (06 Marks)

Differentiate : i) Clearance fit an i Tl\nterference ﬁt ‘if)  Unilateral and Bilateral tolerance.

(08 Marks)
Explain Hole basis system and Shaft basis system. (08 Marks)
OR
Illustrate with a neat skeuh, the working of a sigma compaiator”‘“ (08 Marks)
With a neat sketch. expnam the construction and principle oFSol neumatic Comparator.
(08 Marks)
Module-3 )
Explain the two w;re method to find the effective diameter of screw" ad. (06 Marks)

With a sketé‘lf‘“
apphcatlcns"
What is Best Wire Size?

explain the construction of a tool maker’s mlcro%ope What are its
; (08 Marks)
(02 Marks)

: OR ,
Sketch and explain co-ordinate measuring machine. ‘ (06 Marks)
&‘7 h at are Tactile sensors? Explain different types of tactile sensors. (06 Marks)
) \prlam the principle of Inferometry. (04 Marks)
Module-4
Explain the working of generalized measurement system with block diagram taking the
example. ' (06 Marks)
Define the following terms, with reference to measuring systems :
i) Threshold ii) Hysteresis. (04 Marks)
1 of2
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(06 Marks)

(08 Marks)
(08 Marks)

With a neat sketch ﬁescrlbe the Bridgeman gauge used for prc;qs"re measurement. (08 Marks)

How are dynamometers classified? Explain with a neat sketch, Prony brake dynamometer.
N\ (08 Marks)

OR
(06 Marks)
(04 Marks)
(06 Marks)
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